BREJLET DU - REGMET - &0
prTI

Y24 20245 EEIHL VS — 4E~9R)

Aya Biosphere Reserve

48 58 68 78 88 98
BlE 5 = BlE 5 = e 5 = BlE 5 = BlE 5 = BlE 5 =
18 1k Fr=enen | |1]t 18| 7@z | |1k 18| 537V TY
2| BF7027 || 2)® Al 2 |k |FIDACTHRS 2% | ARiEse R AEE| (2|8
3|k 3|%|®xan 3|8 3|k 3|+ 3|
4|k 4|+|mEoos a|% 4K 4|8 4| K
5@ WEERER | 5|5 re0p 5 k| BIMCTIECTD) | |5 o SEARRER | |5 |n sammen | |5 x| feRiMes
6|+ SHEPTERE | 16\ 5| wapre 6 & 6|+ 6|k 6|2
als 7\ menmees | |7 |8 muEriEE| |78 7% 71+
8|8 ~02E L |8k 8|+ 8B =555 8 | 8|8
9| 9| 9|g 9|\ 9 || HpromEs EIES e
10|2K 10|& 10| B | &£B5= 10(2K 10| 10|
11| | e A 2t 1]+ 1| e (8) 1|4k e () 18 e
12/ TRESCEEEER 110 5| 2esmemaon | |12k BERS (®) 12| & | Efes 12/ 8| Wna 12/ K| e (@)
13+ 138|652 13| | 1k 13|+ 13 132
14|8 14X 14|& 14/ 8 14|K 14|+
15| 15K 15/t 158 /808 15|k 15|8
16X 16| K | FLDAUtRE2 16/ 8 16| X 16| 16| 8B | #E D8
17|K 17|& 17| 8 17|K 17|+ 17X
18/ 18|+ | pmsEAR | [18 % 18/ 188 BERZ D | 18
102 198 19)k 192 nprezs | |19 8| B 19
20|+ 20 7 20/ 20|+ 20/ 20 % | e
2118 21| N | e (B) 21|& 2118 | 32 EEFRDD 21|7K 21|t %g%a&lﬁ)ﬁ%

BrREEEe=
22|18 | ZH5= 22K | ERES2 22|t 22 B |55 22| K 22/8 | #onB
23\ 23 & 23 8 23 23% 23| B | RBHE
24/ 205 LIRS o |24 B e 24) | TLiAiRE 24+ 24 | 52T (~278)
25| K 25|t 25|\ 25K 258 25|7K
26/ % 268 26/ 26/ % 268 N2 e | [26%
27|+ 27 8 | x55= 27| 27|t 27|\ 27|&
28 5 28| 08 % 28 8| &880 28|k 28|+ | SZEET
20 B|BHOS 29 29+ 20 7 29 208 | B AES s
30|\ 30[K 30| 8 30| 30|& 30 A
31|& 31K 31|+

*{TEERBIEBICRDTENHBIET,



BREJLET DU - REGMET - &0
prTI

R #1427

20245E EHIAL >S9 —(10A~38)

§I2)\-%
e e esere

108 VU/E 11218 V& 28 38
BlE 5 = BlE 5 = glm 5 = BlE 5 = BlE 5 = BlE 5 =
1w e PEEASE |1 || e @) 18 FRPTSER) |1k 58 1]+ 1]+
2|k 2|+ 2|8 2 |k 2|8 2|8
3|k JIIpsieet 3| 32| —tmooen | |38 3/
4| | ARisnsaEe:| |4 |8 REHE 4% 4|+ 4% 4| %
5|+ 5 x| gnnREEs | |5 K Bsneess ||5 8 5k BBAREES | |5k aBaREES
6|8 6 |k 6 || ARiEnsaAEER| 6|8 6 K& 6|k
7|B|losness |74 7+ mymER=s | |7 xoseeess ||7]e 7%
8 |\ 8|2 8|8 8 |k | Ipimsgst | |8+ 8|+ | BrE@=E
9|k o| & BIRSSIER | |9 glzs52 9%k 9|B|nEEAR 9|8
10/ 108 | BHremmExs | [10/% 10% 108 | =552 108 | =852
1|2 gonies MEIES 1)k 1|+ 11| | ER20B 1)k
12|+ 12| 12/ 128 12)k 12|k
135 | S BIARTI| |31 132 138 XS | 13K 13/
14/ 8| 2K—vDB 14 14+ SZEET 14 % 14| Friss-sa e | 142
15/ 15/% 150 | mBEEOD 15|k 15|+ 15|+
16)% | e 16|+ 168 16/ 168 16| 0 | cpeisasget
e oY) 178 17|k 172 178 178
182 188 18|k 18+ 18]k 18]k
19+ 19/ 19/ 198 19/k 19)k
20 B| @RS 20| 2k 20 % 20 A 20 A 20K | ZH2E ot
21|g 21| 21|+ 21| 21|% 212
22 22 & | mEtEERE | 228 22k 20 + 20|+ | SZEEM
235k 23+ | HHEHOD 23 8| %552 23| 23/ B | Xe2H4D 23 8
24/ 248 24| IpsisesEs | 242 24| B | {RESIKE 248 | %B52
25/ % 25 8 | %B52 25/ 25|+ 25/ 25| W | INERTER R
26+ HREERES | |26)X 26/ 268 26|k 26/ K | INPEBHE T =
27|8 | REBIEN Y o7 ok | stimee o7/% 27 8 =552 27|k 27| &
28 B | ZH>2 28/ 28| + 28/ 28/ % 28 %
29/ 20 % 205 20|k 20| +
30/ 30|+ 30 B 30/ 308
31| 31 312 318

*{TEERBIEBICRDTENHBIET,




